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CALCIO A5

NELLO SVOLGIMENTO DEI GIRONI A TRE IL CONFRONTO AVVERRA'NEL MODO SEGUENTE:
A<=>B

PERDENTEA/B<=>C

VINCENTE A/B <=>C

ALLIEVI
RISULTATI RISULTATI RISULTATI
SANMICHELI 1 1
RICCI LEGNAGO 3 3|RICCI LEGNAGO | | 4| 2
CALABRESE S.P. I. 5 1
t.r. rig.
SEGHETTI 1l 3 RICCI LEGNAGO
MARIE CURIE _GARDA 5 1|MARIE CURIE GARDA | 4| | 2
GALILEI 1] 2
PASOLI 2
COTTA_LEGNAGO 6 COTTA LEGNAGO | 3| O|

MARIE CURIE_BUSSOLENGO 4

(&)

RICCI LEGNAGO

EINAUDI 7| 2|MARIE CURIE BUSSOLENGO | 2| |
MARCO POLO 0] 3
t.r. rig.
PINDEMONTE 0] 2 COPERNICO
MARCONI 2 1|COPERNICO [ 4] |
COPERNICO 4 1




